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SCIENCE

1. Write your nams, class arxl register number.
2. Do not turn over this page until you are told to do so.

3. Follow all instructions carefully,
] 4. Answer all questions.
5. Wirite your answers in the booklet.

5 Bookiet A 16
. Booklet B . 1 4

Total |
° 30
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For each quesdon from 1 to 8, four options are given. One of them is the correct
answer, Make your choice (1, 2, 3 of 4) and write your answer in the brackets { )
provided,

(18 marks)

1. The diagram below shows two flowers from the same plant.

Which of the arrows show(s) pollination taking place?

(1) Wonly

{(2) WandY only

(3) XandYonly

4 W XandyY { )

2
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2. The diagram below shows the mmni of blood in somne paris of the human
eirculatory system.

head

[ 3
pus o
2
=3
»

legs

Which of the above blood vessels catry blood that is richer in carbon dioxide?

() AandB
(2) Aand C
{3) BandD
{4) CandD { )

3. Which of the following takes place in plants but not in humans?

(1) The fertilised egg is found in the ovary.

(2) The fertilised egy develops in the womb.

(3) Reproductive cells are produced in testes. ,

{(4) The male reproductive cell fuses with the egg. ( }
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4,  Study ihil picture below.

Tom used water that was used to wash fruits to water the plants in his garden.

What method(s) of water consesrvation is/are involved?

{1) recycling

{2) reducing and reusing

(3) reducing and recycling

{4) reducing, reusing and recycling . ( }

5. Study the table below.

' State of substance at
Substance
25 °C 45 °C 85 °C
X _ solid _ solid sofid
7 | sokid solid bquid |
Z “Tiquid fiquid gas

Which of the following is a correct conclusion?

{1) The melting point of substance Y is 85 °C.

{2) The boiling point of substance Z is the highest.

(3) Substance Y has a lower boifing point than substance Z.

(4) Substance X has a higher freezing point than substance Y. { }
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B.

Abdut took a glass of cold milk from the refrigerator and placed & on a table in
the kitchen at room temperature,

fid

milk at 5°G

Which of the foliowing would he observe after 20 minudes?

(1) (2}
water
droplets
water
(3) @

water
droplets
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Plants lose water through tiny openings on both the upper and Jower surfaces

of their leaves. These finy opénings are calied stomata.

Some surfaces of leaves on a plant wers coated with oil. The plant was placed
in a field with bright sunlight. The volume of water loss after three hours was

recorded in the table below.
. - Volume of water foss
Leaf Surface coated with oil through stomata of leaf
{cm?)
R upper surface only 25
none 40
lower surface only 10

Based on the results in the table, which of the following is a cotrect conclusion

about the stomata on the leaves?

(1) There are more stomata on the lower surface,

(2) The stomata on both surfaces are equal in size.

(3) The stomata on the lower surface are smaller in size.

{4) There are equal number of stomata on both the surfaces.

www.testpapersfree.com

BP-~232



8.

The diagram below shows the movement of substance Q, gases, Xand Y, to

system P and also to other human orgéan systems.

7 Res plfatﬁry Key:
{“ ===  system Gas X
Gas X | | GasY | G=Y
| ' Substance Q
E:: -3 SystempP p—
. ] ; 3
3
{ Substance Q
= Digestive
T systom  [*
Which of the following best represents P, Q, X and Y?
P Q X Y
(1 muscular waste oxygen carbon dioxide |
system : :
(2} n;lgg!:r di?;;t;ve catbon dioxide oxygen
(3) ci;cyu;;ae‘t;ry digested food |  oxygen carbon dioxide
) “"g‘;'f;” digested food: | carbon dioxide | oxygen
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For questions #fo 13, write your answers in the blanks provided. The number of marks
available is shown in brackets | ] at the end of each question or part question,

(14 marks)

9, Process T occurs in a plant. The diagram shows how its fruit is formed from its

Pollination '......_._,.. Pmoess’f

flower

{a) Describe process 1. {1

{b} In a garden where many plant Q grow, seme plant Q have only purple fruits
or only green fruits. A gardener collected seeds from plant Q with purple
fruits to grow new planis.

Explain why these new plants will have only purple fruits. )

8
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10.

Two set-ups, R and §, were prepared to show how the temperatues of the water
affected the rate at which ‘rain’ was formed.

water o

80°C - -

300 g of crushed ice

plastic
dish

water at

60°C

200 g of crushed ice

{a) Explain why the test is not a fair one.

plastic
dish

(1

(b} Describe a change to be done ta S8et-up § to make the test a fair one.

[
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11.  The diajiram below represents the different stages In the water cyole.

water vabour

clouds _ fivers and seas

rain

(8) Draw four arrows { ——» )} in the diagram above fo complste the water

cycle. M
(b)(i) Write down the name of the process (beside the correct arrow in the
water cycle above) that is needed to dry wet clothes, M

(i) Wet clothes dry faster when the summounding temperature increases.
Explain why the wet clothes dry faster. . 2

—

10
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12.  Andy carried out an experiment on a plant K. He cut out only thaood-carrying
fubes at part A.

cut atpant A

plamt K

- {a) Andy found substance P in the soil. After a foew days, he ocbserved that leaf
X also has substance P. Explain why substance P is found in leaf X. 11

(b) One day, Andy observed some insects eating their way through the stem of
plant K. This affects the growth of the roots. Explain why. [}

11
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13. Heat is given out by the body when energy is produced in the body.

Five workers were trapped in freezer room that was locked from outside,
Some of them staried to jog on the spot fo keep themselves warm while waiting
for help.

(a)- State lftnefr breathing rates and heart rates: increased or docreased after
they started jogping. {2}

(i) breathing rate :

(ii} heart rate

(b) Explain your answer for part {(a)(il). {2}

End of Paper

12
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PS Scienca WA 2 Suggestad Answers

MoThe 20 s 20 sw  eam T 8@
—

fot)  [itis fusion of & mate reproductive celt and a female reproductive cell,

L o et s
o)  |The charmecterisic of pusple rults = passed on from the parent plsnt 10 U young plants. O

The characieristic of purple fruits is inherited by the young plants from the parent plant,
” JLink incorrect variabie (differsnce in the mass of the jce) to affecting results of the experimert.
10{s) [The differance in the mass of the crushed iog wil atiect the results/rals of condensafion.
108)_}Adk 100gof rshod o o s

| weter vapour (b)) evaporation (1

11 (a)

show heat source & heat destination o show hoat transfer

A1) | The water In the wet clothes will gain mora haat from the surroundings (heat source) so the water evaporatos faster,

Can axplain using amount or speed of heat

12

The rools absort P from the soil along with the water. The waler-Casrying fubes then transport P to feaf X,

1200}

The Insacts have eaten the food-camying tubes (causs) sa tha roots could not receivs food from tha feaves {effect 2)
fand would not grow well.

138}

broathing rate  © Icheases.
hewt rats : increase,

13(d}

Mhﬂﬂmmmmwﬂwtmwmmmmwmﬁnwmmwmmoﬁmaﬂ
Jparts of the bodyibody cefls.
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